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QUESTION: 192
 
Which statement is true about creating a Service Level Agreement (SLA)?
 

A. It is created based on asset collections listed in the asset inventory.
B. It is created based on a Maximo business object to which it applies.
C. It is created based on service requests initiated by the Work Orders application.
D. It is created based on contract approvals specified in the Contracts and Warranties
application.

Answer: B 

QUESTION: 193 
Inventory items can be reserved and stored before they are issued or transferred by setting 
the inventory usage record to what status? 

A. STORED
B. STAGED
C. SHIPPED
D. RESERVE

Answer: B 

QUESTION: 194
 
What is the first application used to create a rotating asset?
 

A. Assets application
B. Inventory application
C. Item Master application
D. Asset Templates application

Answer: C 

QUESTION: 195
 
What is contained in a cron task definition?
 

A. schedule, name, activation, description
B. class name, activation, schedule, name
C. name, class name, access level, schedule
D. name, class name, access level, description
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Answer: D 

QUESTION: 196 
After the IBM Maximo Asset Management V7.5 system is properly configured, data can be 
loaded from an existing data source. Which tool is used for loading external data? 

A. Database Import
B. Database Loader
C. Migration Manager
D. Integration Framework

Answer: D 

QUESTION: 197
 
Which statement is true about routes?
 

A. Assets and locations that are applied to a route must be from the same site as the site ID
of the route record.
B. Assets and locations that are applied to a route must be from the same site as the site ID
of the parent record.
C. After a route has been applied to a work order, the resulting taskwork or child work
orders can no longer be modified.
D. After a route has been applied to a work order, new sequence numbers can be assigned
to the resulting taskwork or child work orders.

Answer: D 

QUESTION: 198
 
What is required of a process to be selected in a subprocess node?
 

A. The process must be enabled.
B. The process must be activated.
C. The process must reference a different object.
D. The process must have at least one condition node.

Answer: A 

QUESTION: 199 
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A customer wants an escalation to automatically close work orders that have been in a 
complete status for more than 30 days. Which statement is true for this escalation? 

A. The escalation point should be set to repeat.
B. The escalation point should have an elapsed time interval of 720.
C. The escalation should have a condition that monitors work order status.
D. The escalation should have a condition that monitors work order status and change date.

Answer: D 

QUESTION: 200
 
What is the purpose of the Usage Type field in the Inventory Usage application?
 

A. The items will be used today, tomorrow, or sometime in the near future.
B. A record is made up of only issue items, only transfer items, or a mixture of all item
types.
C. The costs of the transaction will be charged to a work order, location, asset, or general
ledger account.
D. A record is made up of only issue or return services, only transfer services, or a mixture
of all item services

Answer: B 

QUESTION: 201 
Which type of invoice is automatically created to pay for a monthly car service from a 
lease/rental/warranty contract? 

A. SCHED
B. LEASED
C. ROUTINE
D. SERVICE

Answer: A 

QUESTION: 202
 
Which statement describes an inventory soft reservation?
 

A. a request for materials that is not subject to a timeframe
B. a request for materials that contain liquids, gels, or gases
C. a request for materials that can be supplied from existing stock
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D. a request for materials that have a work order priority greater than three

Answer: A 

QUESTION: 203 
When entering an asset's reading for a Characteristic type of meter, which field must be 
entered? 

A. Meter Type
B. New Reading
C. Reading Type
D. Asset Number

Answer: B 

QUESTION: 204 
Which IBM Maximo Asset Management V7.5 application matches labor to work order 
tasks? 

A. Roles
B. Activities and Tasks
C. Assignment Manager
D. Preventive Maintenance

Answer: C 

QUESTION: 205 
Which part of the topology viewer increases or decreases the level of transitive 
relationships from the source asset in the display? 

A. Breadth
B. Detail View
C. Relationships
D. Classifications

Answer: A 

QUESTION: 206 
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Safety plans are used on which two IBM Maximo Asset Management V7.5 applications? 
(Choose two.) 

A. Assets 
B. Job Plans 
C. Work Orders 
D. Service Requests 
E. Preventive Maintenance 

Answer: B, C 

QUESTION: 207 
What are the three statuses that a shipment receipt record can have when receiving shipment 
items or tools in the Shipment Receiving application? (Choose three.) 

A. NONE 
B. PARTIAL 
C. RECEIVED 
D. ACCEPTED 
E. COMPLETE 
F. INCOMPLETE 

Answer: A, B, E 
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